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The Question Paper will be given in the form of a Question Booklet. There will be four
versions of Question Booklets with Question Booklet Alpha Code viz. A, B, C & D.

The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet
of the Question Booklet.

The Question Booklet Alpha Code allotted to you will be noted in your seating position in
the Examination Hall.

If you get a Question Booklet where the alpha code does not match to the allotted Alpha
Code in the seating position, please draw the attention of the Invigilator IMMEDIATELY.

The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your
Questign Booklet is un-numbered, please get it replaced by new Question Booklet with same
Alpha Code.

The Question Booklet will be sealed at the middle of the right margin. Candidate should
not open the Question Booklet, until the indication is given to start answering.

Immediately after the commencement of the examination, the candidate should check that
the Question Booklet supplied to him/her contains all the 100 questions in serial order. The
Question Booklet does not have unprinted or torn or missing pages and if so he/she should
bring it to the notice of the Invigilator and get it replaced by a complete booklet with same Alpha
Code. This is most important.

Question Serial No. 1 to 80 are printed both in English and in Kannada. Doubts
regarding the meaning and translation of Question Serial No. 1 to 80 will be settled
based on the Questions in English.

Twok blank pages are provided before the last page of this Question Paper for rough
work.

Please read carefully all the instructions on the reverse of the Answer Sheet before
marking your answers.

Each question is provided with four choices (A), (B), (C) and (D) having one correct answer.
Choose the correct answer and darken the bubble corresponding to the question number
using Blue or Black Ball Point Pen in the OMR Answer Sheet.

Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be
deducted. No negative mark for unattended questions.

No candidate will be allowed to leave the examination hall till the end of the session and
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure
that the Invigilator has verified all the entries in the Register Number Coding Sheet and
that the Invigilator has affixed his/her signature in the space provided.

Strict compliance of instructions is essential. Any malpractice or attempt to commit any
kind of malpractice in the Examination will result in the disqualification of the candidate.
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1. Which is the correct chronological order of following events ?
i. Kurichiya Revolt
ii. Kundara Proclamation
iii. Pazhassi Revolt
iv. Malabar Rebellion

A) iii, i, ii and iv B) i, iii, iiand iv C) iii, iv, iiand i D) iii, ii, i and iv
2. Match the following :

i. Nana Sahib a. Arrah

ii. Kunwar Singh b. Kanpur

iii. Shah Mal c. Faizabad

iv. Maulvi Ahmadullah Shah d. Barout

A) i—d,ii—c,iii—a,iv—Db B) i—b,ii—a,ii—d,iv—-c

C) i—b,ii—c,iii—d,iv—a D) i—d,ii—c,iii—b,iv—a

3. Which of the following statement is/are correct about the UNESCO World Heritage
Sites in India ?
i. UNESCO declared Rudreshwara (Ramappa) temple of Telangana as the World
Heritage Site in 2020.
ii. UNESCO declared Dholavira, an Indus Valley Civilization site, as the World Heritage

Site in 2021.
iii. There are 40 sites from India in the World Heritage list of UNESCO upto 2021.
A) Onlyiandii B) Only i and iii
C) Only ii and iii D) All of the above (i, ii and iii)

4. Statements regarding the cropping seasons in India are given below. Choose the
correct option.
i. The Rabi season begins with the onset of winter.
ii. Zaid is a short duration of cropping season begins after harvesting of Rabi crop.
iii. Kharif season largely coincides with Southwest monsoon.

A) Onlyi B) Only ii

C) Onlyiandii D) All of the above (i, ii and iii)
5. Which of the following types of rocks correctly matches with their example ?

i. lgneous rock — Basalt

ii. Sedimentary rock — Slate

iii. Metamorphic rocks — Marble
A) Only i and ii are correct

B) Only i and iii are correct

C) Only ii and iii are correct

D) Only iis correct
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6. Which of the following is/are correct regarding successful launching of PSLV-C52 with
EOS-04 (Earth Observation Satellite) in February 2022 by Indian Space Research
Organisation ?

i. The satellite EOS-04 is realised at U.R. Rao Satellites Centre, Bengaluru.
ii. The satellite EOS-04 is a radar imaging satellite designed to provide high quality
images under all weather conditions.
iii. The vehicle also placed two small satellites.
A) Only i B) Only ii
C) Onlyiandii D) All of the above (i, ii and iii)

7. Which of the following was/were the reasons for the economic liberalisations of 1991
in India ?
i. High fiscal deficit for the government.
ii. Rising prices of essential goods.
iii. Low foreign exchange reserves.
iv. Structural change of the economy.

A) Only i andiii B) Onlyiand ii

C) Only i, ii and iii D) All of the above (i, ii, iii and iv)
8. ‘Head Count Ratio’ is associated with the measurement of

A) Per capita income B) Literacy rate

C) Unemployment D) Poverty

9. The leastimpacted sector of the Indian economy by the Pandemic related disruptions
as per Economic Survey of 2021 — 2022 is

A) Manufacturing Sector B) Agricultural Sector

C) Service Sector D) None of the above
10. Tick is the vector for

A) Lyme disease B) Malaria

C) Kala azar D) Sleeping sickness
11. The mission aimed to transform Public Health Sector in Kerala is

A) Ashakiranam B) Hridyam C) Ardram D) Life mission
12. Covid 19 vaccination in India was started on

A) 26-01-2021 B) 16-01-2021 C) 7-04-2021 D) 1-01-2021
13. Which of the following is not a photosensitive material to visible light ?

A) Sodium B) Rubidium C) Cadmium D) Lithium
14. Name the satellite which is not launched by PSLV-C52 rocket of ISRO on

14" February 2022.

A) EOS-04 B) INS-2TD C) CMS-01 D) INSPIREsat-1
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In aqueous solution Lithium is a more powerful reducing agent than Caesium,
because

A) First ionisation enthalpy of Caesium is less

B) First ionisation enthalpy of Lithium is less

C) Hydration enthalpy of Lithium ion is high

D) Hydration enthalpy of Caesium ion is high

The Nobel Prize in Chemistry 2021 was awarded jointly to Benjamin List and David
W.C. Macmillan for

A) The development of Lithium ion battery

B) The development of asymmetric organo catalysis

C) The development of a method for genome editing

D) The development of cryo-electron microscopy

‘In What Language Does Rain Fall Over Tormented Cities’ was the title of a lecture
by distinguished writer Smt. Arundhati Roy in memory of the great German writer
W.G. Sebald. Name the work by Arundhati Roy in which she has included the text
of this lecture.

A) The Ministry of Utmost Happiness B) Walking with Comrades

C) Azadi : Freedom, Fascism, Fiction D) The Algebra of Infinite Justice

Sugandhi and Madhava are the characters of a Tulu language film directed by
Abhaya Simha, which received the award for the Best Feature Film in Tulu, at the
65" National Film Awards ceremony. Name this film which, was a retelling of William
Shakespeare’s ‘Macbeth’ in a setting among the Mogaveera Community of Coastal
Karnataka.

A) Bangar Patler B) Paddayi C) Veeram D) Madipu
Who invented the World Wide Web (WWW) ?

A) Alan Turning B) Steve Jobs

C) Bill Gates D) Tim Berners Lee

is the example of Infrastructure as a Service (laaS) cloud

computing.

A) Amazon Web Service EC2 B) Google Workspace

C) Google G Suite D) Big Commerce

_ 6.4x6.4x6.4-3.6x3.6x3.6
Find the value of

(6.4x6.4+6.4x3.6+3.6x3.6) (6.4x6.4-3.6x3.6)"
A) 10 B) 3.2 C) 1 D) —
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If an article is sold for Rs. 182 at a loss of 9%, what should be its selling price in
order to earn a profit of 9% ?
A) 200 B) 210 C) 218 D) 220

In the first 10 overs of a cricket match, the run rate was 3.8. What should be the run
rate in the remaining 40 overs to reach the target of 288 runs ?
A) 6 B) 6.25 C) 6.5 D) 6.75

To complete a piece of work, A alone takes 10 days and B alone takes 20 days,
respectively. With the help of C, they finish the work in 4 days. In how many days
C alone can complete the work ?

A) 10 B) 11 C) 12 D) 13

The value of a machine depreciates at the rate of 10% every year. It was purchased
3 years ago. If its present value is Rs. 10,935, its purchase price was

A) Rs. 12,000 B) Rs. 14,000 C) Rs. 15,000 D) Rs. 17,000
Fill in the blank :

256:8::32:

A) 2 B) 3 C) 4 D) 5

Ajay walked 20 meters towards South. Then he turned to his left and walked 15 meters.
He then turned to his left and walked 20 meters. He again turned to his right and walked
25 meters. At what distance is he from the starting point and in which direction ?

A) 40m, E B) 45m, E C) 25m, N D) 20m, N

What is the next number in the series 3,6, 11,18, ....7?

A) 26 B) 27 C) 28 D) 29

Find out the mirror image of BRAIN.

A) NIAAS B) VIAAB C) NIARB D) NIAARY

If ‘MANGO’ is written as ‘LBMHN’ in some coding, then ‘FRUIT’ is written as

A) EQTJS B) ESTJS C) GSTJS D) ESVJS
observes, ‘law must be stable, yet it cannot stand still’.

A) Holland B) Roscoe Pound

C) Salmond D) Allen
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Jura in re propria includes
A) Servitudes B) Mortgages
C) Trademarks D) Leases

says that legal theory is “an attempt to answer the question
‘What is law’ in order to clarify the most of all legal concepts, the concept of law
itself”.

A) Cicero B) Dicey C) Gray D) Fitzgerald

Who said that ‘customs are of the main triangles of the laws of England’ ?
A) Sir Edward Coke

B) Sir Thomas Fleming

C) Sir William Hankford

D) Sir Robert Hyde

The doctrine of prospective overruling was laid down by Justice Cardozo in
A) Gerard v. Worth of Paris Ltd.

B) Northern Railway v. Sunburst Oil Refining Co.

C) Tiverton Estates Ltd. v. Wearwell Ltd.

D) Baba Narayan Lakras v. Saboosa

Which of the following writs is issued for quashing an order that is already passed
by a subordinate Court, tribunal or a quasi-judicial authority ?

A) Mandamus B) Prohibition

C) Certiorari D) Quo Warranto
Which of the following is not true regarding Money Bill ?

A) Alteration of tax B) Abolition of tax
C) Imposition of fine D) Regulation of tax

Consider the following statements.

1. Schedule VII of the Constitution enumerates the taxation subject provided under List |
and List II.

2. There is no head of taxation in the concurrent list.
3. Union and the States have the concurrent power of taxation.

Which of the statement given above is/are correct ?
A) 1 and 2 only B) 1 and 3 only
C) 2 and 3 only D) All of the above

-10-
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39. Which of the following is the correct order of the words as mentioned in the Preamble
of Indian Constitution ?

I. Fraternity
Il. Liberty
Ill. Sovereign
IV. Equality
A) IV LT B) LI IV, 1 C) I, 1, 1, 1V

D) IV, Il 1, 1
40. Consider the following statements about the taxation.

I. Taxes on the capital value of the assets, exclusive of agricultural land, of individuals

and companies; taxes on the capital of companies is in List I.
Il. Markets and fairs is in List I.

[ll. Stamp duty is in List Il.

Which of the statement given above is/are correct ?
A) land Il only

B) I and lll only
C) Iland lll only D) All of the above

Under Section 164 of the Code of Criminal Procedure, 1973

A) Only the statement of a person produced by the police or investigations agencies

41,

can be recorded

B) Statement of the person approaching the magistrate independently can be
recorded

C) The statement need not be voluntary

D) The Police Officer is authorized to record the statement

42. The term “taking cognizance” under the provisions of Code of Criminal Procedure,
1973 means
A) Starting a trial

B) Completing preliminary requirement for starting a criminal trial
C) Taking notice of the matter judicially

D) An administrative action to decide if criminal trial is required

43. A man is defined by Section 10 of Indian Penal Code as a male human being of
A) Any age

B) Above 16 years of age
C) Above 18 years of age D) Above 21 years of age
44. “Tort means a civil wrong which is not exclusively a breach of contract or breach of
Trust.” This definition is from which statute ?
A) The Specific Relief Act B) The Limitation Act
C) The Indian Contract Act D) None of the above

-12-



39.

40.

41.

42.

43.

44,

131/22 - K

83 FINTRYNTE CIRRTO G0TEECL TONTITT LedFONY, v eDATOR TTNY TOCINT
908, 30m9N T 2
B3
Il. 203,
. 7RBFeR=oE,
V. 388

A) IV, LT B) L1, 1V, 1 C) I, 1, 1,1V D) IV, I 1, |

BOrod B0 B4 FINT TePINTI) BOSEARD.
. 33,0088 0T FOTING T LRV THTIOTRA BINT WoBTY [IPY,T [F0ed3
BOMNL; TOTINY OB DT BoAND TWed, | TSI,
II. SRToFEIR Y Soedned Te, | SO,
1. &300539,08 300 e 11 3Y3.

0ee DEBTDNTHT TeTERTE), TR0/ FOTPNTS /TS 2
A) 1353 Il 328, B) | =020 Il 373,
C) Il 303 Il 3%, D) S0¢93 203

WToIF 3,037 [o&E, 1973 T A" 164 T R0,

A) ZpOeTTO T B3 ﬁoﬁ@ 0 DeRTI 3,303 ﬁe%oﬁam‘;{ BRE, TDITWTOTD
B) RZ0Z,moN 335,287 ¢¢30T0 BoTEERO ;30D TePFodTY, Tl DBWTOT

C) Dewgoudd 30300, ¢0ZmNTLIETIN,

D) ﬁe@%odoag% ToDOTLD FPOCT® L9QTIOMN 9QTITNT

30T Fp,2ewT* et 1973 T V0TS LRODY, *79, 03 15SHN SREEAWRTD 2o
A) T,03ReNBIY, 9, BoRRYTO
B) 3c03e° @md%oﬁo@{ 39, BORILD T, BT @wszsséﬁ@mq TPEOIFRRPROR)TO
C) wE3T[IY, T3, 03390M=m0N MBOVAYTO
D) 3,003 Q50T $NE DT3¢ 0T IFFOILI STIYTITF 8,30

43908003 TOT F0&BC :3356‘ 10 C =oRos TV, T, YOO BT 23ee) 20T
mzsmémmﬁd.

A) IR oD B) 16 S®F SoDRN0T Hoeds

C) 18 SIRF SaDN0ZT &0edT D) 21 S=F S NoE FedT

CEREEE 0TT ANYT FTINT) BT T ¢0N WITOTT Bpms JoWFOD LVQOFIODY” .
B4 599,83, 0320 033 TIRTWOT WONT ?
A) JLFF TOZT FOOUT B) 08 50003
C) 200360 wiB0OT F200T D) 30¢0% cdnnTe 98
-13-



131/22 - K

45. The test of reasonable foresight in determining the remoteness of damages was first

applied in

A) Re: Polemis

B) Wagonmound Case

C) Doughty V. Turnor Manufacturing Co. Ltd.
D) Ashby V. White

46. When the Communication of a proposal is complete

A) When it do not comes to the knowledge of the person to whom it is made

B) When it comes to the knowledge of the another person that some communication
was made to the concerned person

C) When it comes to the knowledge of the person to whom it is not made

D) When it comes to the knowledge of the person to whom it is made

47. Who can appoint the Controller of Certifying Authorities under Information Technology

48.

49.

Act, 2000 ?

A) The Central Government
B) The State Government
C) Both A) and B)

D) None of the above

What is the punishment for tempering with computer resource documents under
Information Technology Act ?

A) Imprisonment upto three years or with fine which may extend upto two lakh rupees or
with both

B) Imprisonment upto two years or with fine which may extend upto one lakh rupees or
with both

C) Imprisonment upto one year or with fine which may extend upto one lakh rupees or
with both

D) Imprisonment upto five years or with fine which may extend upto five lakh rupees or
with both

For every limited liability partnership, how many minimum partners are required for
designated Partnership ?

A) Minimum two partners
B) Minimum one partner
C) Minimum three partners
D) Minimum two resident partners
-14-
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50.

51.

52.

53.

The doctrine of Res subjudice and Res judicata is enshrined in Civil Procedure Code
under

A) Section 9 and 10 respectively B) Section 10 and 9 respectively

C) Section 10 and 11 respectively D) Section 11 and 10 respectively

When one fact is declared by the Indian Evidence Act to be conclusive proof of

another

A) The Court may, on proof of the one fact, either regard the other fact as proved, unless
and until it is disproved, or may call for proof of it

B) The Court shall, on proof of the one fact, regard the other fact as proved, unless and
until it is disproved

C) The Court shall, on proof of the one fact, regard the other as proved, and shall not
allow evidence to be given for the purpose of disproving it

D) The Court may, on proof of the one fact, regard the other fact as proved or may allow
evidence to be given for the purpose of disproving it

‘A’ is charged with commission of a crime at Calcutta on a certain day. In fact, ‘A’
was at Mumbai on that day. Which one of the following pleas can be raised by ‘A’
in defence ?

A) Plea of non est factum

B) Plea of alibi

C) Plea of contra proferentum

D) Plea of autrefois acquit

In criminal proceedings, evidence of good character of the accused person is
A) Relevant and admissible

B) Relevant but not admissible

C) lIrrelevant and inadmissible

D) Admissible but not relevant

54. The burden of proof in a suit or proceeding lies on

A) The plaintiff

B) The defendant

C) The person who is in a position to prove the fact in issue

D) The person who would fail if no evidence at all were given on either side
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55.

56.

57.

58.

59.

The principle of law by which a person is held bound by the representation made by
him is known as

A) Ejusdem generis B) Estoppel

C) Res gestae D) Vinculum juris

Nothing in the Second Chapter of the Transfer of Property Act shall be deemed to
affect any rule of

A) Hindu Law B) Christian Law

C) Muhammadan Law D) Parsi Law

Under Section 6 of the Transfer of Property Act, “An easement cannot be
transferred”

A) Apart from the dominant heritage

B) Apart from the servient heritage

C) Apart from any appurtenant structure

D) In breach of the Rule against Perpetuity

Which of the following statements is correct according to the provisions of Section 10

of the Transfer of Property Act ?

A) An absolute restraint on the power of alienation is void; whereas a partial restraint
is valid

B) Even a partial restraint on the power of alienation is void

C) A condition or limitation restraining the power of alienation is valid only in the case
of gift

D) A condition restraining the power of alienation is valid if there is lawful

consideration

Under Kerala Police Act, 2011, all citizens shall have the right to efficient police
services from any Police Station. Choose the correct option.

A) The statement is true and has been provided under Sec. 7

B) The statement is true and has been defined under Sec. 10

C) The statement is false

D) None of the above

-18-



131/22 - K
55. %2 @ 30N TT, T9,30F.F, WT ToNTLO BROQTID ToIRID TS Wm0, 0eN0T
A ) S ) @ £ CY

[}

jelevsoplpviciat
A) HwIFTF W30 B) 2%z
C) o= rix¢ D) R0 we, 0%

56. B0¢d TOFR WETIZT DOT LPVFQTITOTH) SR TMWFTE FICWTIOD

DTBIO 553, 0NTY, DT BTRNY,.
A) &0TR TR B) §9030%° 38R0
C) BBITT IR D) T2 TORARO

57. @3 [MFNE 500D AF 6 T RN, .00 BIYRNT TFIY WMoF S
IR’

A) T,00 2T, BFE FET BRTZN

B) ebedeen aiﬁ@@m& AT TRTN

C) oSnxmy)se 930005 TEI00 RRTzoN

D) 2938 ©R0yieents 0TIT J0IWOT LOQOFFIODY,

58. @ [rwF e F0ITON FFS' 10 S QOGNS &390, 83 IFNT CIRe8 Tewd FOTRNT ?

A) TTLROT ©QTITT W0 TOTPRIF JWFO0Tw) @msémmﬁ; STT PoNS: VWFOTw)
mssmﬁdagd

B) ©Ty003 903000 063 LTond: QW 0GR I eﬁamsémﬂd
C) WTy0E ©RFTNDI TEOINE WIBY &FPw 0S0K LVRIRRTOD FoTF 3, [NE,
BRI, TINTOZT
D) -@mmww@ TONEIS QT T WIYPOF BHFTOTITY, AF 0PAIS WTLY 80T, :oNTZT
59. 3e0% FpOex® o003, 2011 T ROV, &R, TINOTTO C3NRTIE FPOCT* TFCI0T AROTF
POexE ﬂeﬁﬁ@z\g WO 5‘%@( TROOTLZT.
ROCINT B30T, HOA.
A) TewE QT WO AF® 70 SRODY, wININT
B) Se9d AxamoNd w020 f@p@ 103 w@ob, @9,809, IERNT
C) I3 m@r\d
D) R0eds cdnzmn)ce we),

-19-



131/22 - K

60. Where the mortgagor delivers possession of the mortgaged property to the mortgagee,
and authorizes him to retain such possession until payment of the mortgage-money,
and to receive the rents and profits accruing from the property and to appropriate

the same in lieu of interest, or in payment of the mortgage-money, the transaction
is called

A) Simple mortgage

B) Usufructuary mortgage
C) English mortgage

D) Equitable mortgage

61. Who is the Competent Authority empowered to determine ‘fair rent’ on the application

of the tenant or landlord of a building under the provisions of the Kerala (Building
Lease and Rent Control) Act ?

A) The Accommodation Controller

B) The Rent Control Court

C) The District Collector

D) The Land Revenue Commissioner

62. The Ramsar Convention, 1971, provides for the conservation of
A) Fossil fuels

B) Endangered and endemic medicinal plants
C) Wetland habitats

D) Ozone layer

63. The Chairperson of the National Green Tribunal shall be appointed by
A) The Collegium of the Supreme Court of India in consultation with the President of
India

B) The Chief Justice of the Supreme Court of India in consultation with the President
of India

C) The President of India in consultation with the Collegium of the Supreme Court of
India

D) The Central Government in consultation with the Chief Justice of the Supreme Court
of India

64. Which one of the following Authorities is empowered to declare that it has been
decided to constitute any land a Reserved Forest ?
A) The State Government

B) The Central Government
C) The Central Pollution Control Board
D) The Forest Settlement Officer
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65. Which Article of the Constitution of India mandates that the State shall endeavour

66.

67.

68.

69.

to protect and improve the environment and to safeguard the forests and wildlife of
the country ?

A) Article 21 B) Article 31B

C) Article 48A D) Article 51A

As per the Code of Criminal Procedure, 1973 (CrPC), a warrant case relates to an
offence punishable with

A) Death penalty and imprisonment for less than 2 years

B) Imprisonment for more than 3 years

C) Imprisonment for more than 5 years

D) Death penalty, life imprisonment or imprisonment for more than 2 years

Who amongst the following is authorized to seize the alleged or suspected stolen
property under Sec. 102 of CrPC ?

A) Special Magistrate

B) Police Officer

C) Judicial Magistrate

D) Executive Magistrate

An arrested person has a right to meet an advocate of his choice during interrogation.
This has been provided under the following Section of the CrPC

A) Sec. 41B B) Sec. 41A C) Sec. 41D D) Sec. 41C

Read Statement | and Il :

Statement| : The publisher or owner of the media or studio or photographic
facilities shall be jointly and severally liable for the acts and
omissions of his employee.

Statement Il : Any person who contravenes the provisions of sub-section (1) or

sub-section (2) shall be liable to be punished with imprisonment
of either description for a period which shall not be less than six
months, but which may extend to one year or with fine or with
both.

Choose the correct option as per the provisions of the POCSO Act.
A) Both | and Il are correct as per Sec. 24 of the POCSO Act

B) Both | and Il are incorrect as per Sec. 24 of the POCSO Act
C) Both | and Il are correct as per Sec. 23 of the POCSO Act

D) Both | and Il are incorrect as per Sec. 23 of the POCSO Act
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70. With reference to the POCSO Act, 2012, match List — | with List — Il and select the
correct answer by using the codes given below the lists :

71.

72.

73.

List -1 List—1I
a. Sexual Assault i. Sec. 11
b. Sexual Harassment ii. Sec.7
c. Abetment iii. Sec. 16
d. Punishment for false complaint iv. Sec. 22
Codes :
a b c d
A) ii [ iii iv
B) [ ii iii iv
C) i i iv [
D) [ iv ii iii

The disclosure of information in the following cases is exempted under Section 8 of
RTI Act, 2005

V.
A)

The disclosure of information is likely to ‘prejudicially affect the sovereignty and
integrity of India’.

The disclosure of information is likely to ‘prejudicially affect the security, strategic,
scientific or economic interests of the State, relation with foreign State or lead to
incitement of an offence’.

Information including commercial confidence, trade secrets or intellectual property,
the disclosure of which would harm the competitive position of a third party, unless
the competent authority is satisfied that larger public interest warrants the disclosure
of such information.

Information received in confidence from foreign government.

Statements | and Il are correct and Ill and IV are incorrect

B) Statements Il and IIl are correct, but IV and | are incorrect
C) Statements Il, Il and IV are correct and only | is incorrect
D) All the Statements |, Il, lll and IV are correct

Which provision of the Narcotics Drugs and Psychotropic Substances Act, 1985,
provides for punishment for attempt to commit offences ?
A) Sec. 27 B) Sec. 28 C) Sec. 25 D) Sec. 31

The offences punishable under the Narcotics Drugs and Psychotropic Substances
Act, 1985, shall be

A) Cognizable and Bailable

B) Non-Cognizable and Bailable

C) Non-Cognizable and Non-Bailable

D) Cognizable and Non-Bailable
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74. The Capital Punishment represents the following objective
A) Retribution B) Reformation C) Rehabilitation D) Self-Expiation

75. Statement | : In criminal justice systems, information traditionally has been textual,
linear, impersonal and paper based and flowed in one direction across
loosely coupled criminal justice agencies.

Statement II: Social media content is multi-medium, digital, holistic, emotional and
image dominated.

Choose the correct option :
A) Both the statements are true B) Both the statements are false
C) Only statement | is true D) Only statement Il is true

76. Extortion is defined under which Section of IPC, 1860 ?
A) Sec. 384 B) Sec. 383 C) Sec. 390 D) Sec. 387

77. As per Sec. 320 of IPC, how many kinds of hurts are included under Grievous Hurt ?
A) 6 B) 7 C) 8 D) 5

78. With reference to the IPC, 1860; match List — | with List — Il and select the correct
answer by using the codes given below the lists :

List -1 List -1l

a. Stalking i. Sec. 354A
b. Sexual Harassment ii. Sec. 354D
c. Voyeurism iii. Sec. 354C
d. Gang Rape iv. Sec. 376D
Codes :

a b c d
A) il i ii iv
B) i i iii iv
C) iii i iv i
D) i i iii iv

79. Mr. X, a public servant, is directed by law to take property in execution, to satisfy a
decree pronounced by an appropriate court of law. He knowingly disobeys the said
direction of law, with the knowledge that he is likely thereby to cause injury to Mr. Y.
Mr. X has committed the offence under the following Section of IPC
A) Sec. 166 A B) Sec. 166 B C) Sec. 167 D) Sec. 166

80. Community Policing has been defined under the following Section of the Kerala
Police Act, 2011
A) Sec. 64 B) Sec. 85 C) Sec. 32 D) Sec. 3
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81. The passive voice of the sentence, “Do they speak French ?” is

A) French is spoken by them B) Is French spoken by them ?
C) French was spoken by them D) Was French spoken by them ?
82. A lot of people the exhibition.
A) Visits B) Visiting
C) Visit D) None of these
83. The police four thieves last night.
A) Catch B) Catches
C) Had caught D) Caught
84. Practical work including (i) fifty hours of structured internship (ii) to man project (iii)
A) Error on (i) B) Error on (i) and (iii)
C) Error on (ii) and (iii) D) Error on (iii)

85. The reported speech of the sentence, Roy says, “l| am flying a kite” is
A) Roy says that he was flying a kite B) Roy says that he is flying a kite
C) Roy says that he has been flying a kite D) None of the above

86. Phrasal verb for the underlined word in the sentence, “How did these things

happen ?” is
A) Come across B) Come out
C) Come into D) Come about

87. The feminine gender of the word, Testator is
A) Testatrix B) Testatric
C) Testatrine D) Testatoress

88. The synonym of the word “Complement” is

A) Praise B) Complete
C) Settle D) Complex
89. The one word for “a movement or series of moves requires skill and care” is
A) Monoevre B) Manoever
C) Monoeuvre D) Manoeuvre

90. The study of ancient writing and scriptures is called
A) Palaeography B) Orthography
C) Epigraphy D) Lexicography
A -08-
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Space for Rough Work
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